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Diff0l1 for No.3

[ [7x+12 ; x<=3D [ {kx+26 ; x<—3D
No0l =| f(x) = , ,No02=|f(x)=

45+ k ;. x>3 2x° +k ;ox>=-3
3x%°-5x-5 R x<-2 bx+32 x <=-4
NoO3=|f(x)=| ax*+13 so2<=x<=4]}, ,NoO4=|f(x)=| ax+b ; -4<x<=6
bx+17 ; x> 4 3x+a x>0

No05 =[f(x)=(x-3)+7]

flx)=5x"-4
a=4 a=4 a=>5 a=17
No06 = b=4.2 , ,No()7:[b:8}, ,N008=[b:2}, ,No()8:[b:5}
c=4.1
d=401
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Diff0l1 Answers for No.3
a=1 a=2
Ansl = (k=-3), , Ans2 =(k=2), , Ans3 = [b 3} , AnM_[b:EJ
éfﬁ;; i = [f(a)=76] ]
' _3 —’6 2=[1f(b)=284.20, h =0.2, RateOfChange = 41.000 ]
AnsS = 4_'(g 16) , Ans6=| .3=[f(c)=80.05,h=0.1, RateOfChange = 40.500 ]
' _5 _’5 4=[1(d)=76.4005, h = 0.01, RateOfChange = 40.050 ]
.6:4 L .5 = [RateOfChange at the point a = 40 ]
I=[fr)=27r] I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [2n(r+h) 2“’”} , , Ans8 = TC(7’+h)2—TCI”2:|
- h
=[2n], 5—[2Tr] 6=[2n]]l [4=[2nr],.5=[10n],.6=[4n]]]
£
=|f(x)= ova
f(x+h>2 a
2=\f(x+h)y=—""" ¢
Ans9 = (x+h) fx . é
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